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obdd =2 e 1,884,051 860,339 1,023,712
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201 L4Wh-FH] 65,700 48,000 17,700
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01 =ujodu] 51,144 56,752 A5,608
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01 dA7-&9H] 60,000 30,000 30,000
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O<sF=H1d) 25,000
O A A7 (1) 48,000
BAE 73 g e 445,360 464,249 A18,889
A =9 2 HEAF e 445,360 464,249 A18,889
201 Iuk-<gH] 445,360 464,249 A 18,889
01 AHF-3E]n) 151,200 169,000 A17,800
O] 54 1,200
OAE 2G40 A= 150,000
02 FFYY] 294,160 295,249 A1,089
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PBTA AN 2R TAL) 1,700,851 1,703,716 A2,865
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S Qln A 817,881 830,058 A12,177
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05 ™HEF7H] 36,672 38,127 A1,455
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-2 9724 H] 76,325,000 %1 . 8% 1,374
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~7FAA R 78,615,000 %16. 7% 13,129
-1 7} R A 78,615,000 %1/12%1/30+11< 2,403
203 G FFx1H] 4,800 5,000 A200
02 AL7MFG 37 600 800 A200
O 7= 40,0009 157 = 600
04 FAFFGHFFH| 4,200 4,200 0
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204 AT 4] 37,860 38,460 AB00
01 AAFHFAH4H 1,800 1,800 0
Ox% 1,800
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OYyr3 14,700
053 250,000 *17*124 3,000
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101 A71H| 829,631 830,130 499
09 F-7|AFEE AR S 829,631 830,130 A499
O 1,191,010 #2878 129 400,180
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Ok e o S =t 1,191,010 %10%+28" 8 129 = 40,018
OAHGHHT F2AFAH 50009287 =50 = 7,000
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O] 1] (28%) = 12,600
OHAFFaUNEER) = 71,948
7127 53,339 43,528 9,811
Hj90] 7] EAH| 28,489 18,528 9,961
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0Y - =43 = 24,150
oA A7/ 2 22FE 74 = 700




